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Section I: Multile Choice (2.5 points eacl),

Please, circle the correct answer for each of the following 20 multiple-choice questions. For each guestion,
only one of the answers is correct.

ilysﬁose a consumer has $100 to spend on two goods, shoes and shirts. If the price of a pair of shoes is $20 per pair
and the price of a shirt is $15 each, which of the following combinations is unaffordable to the consumer?
(A} O pairs of shoes and 0 shirts
/LS}"Z pairs of shoes and 4 shirts loe 2 Lo Shors 5 15 ;Mql

9«5 pairs of shoes and 0 shirts
‘0 pairs of shoes and 7 shirts 474/
2. the@@é@@w e of shelter is downward sloping, then '
_—,__-——v—"'——b‘-‘—"-—-—
{8} theamount of monay spent on shelter increaseas as its price falls
R } the amount of money spent on shelter decreases as its price falls

(B
{€) the amount of money spent on shelter stays the same as its price falls
~{D} it is Impossible to tell whether the total expenditure on shelter has changed

V he price elasticity of demand for durable goods tends to
{A) the same in the long-run and the short-run
(B) greater in the long-run than in the short-run
greater in the short-run than in the long-run
{D} a nonnegative value (either positive or zero)

4. Suppose the price of Ais 520, the price of B is $10, and that the consumer is currently spending all available ig:orﬁg.

At the consumer’s current consumption basket the marginal utility of Ais 6 and the marginal utility of B is 4, { g4
{4) the consumer is currantly maximizing utility é -, i /}( N
{B) the consumer could increase utility by consuming more of good Aand lessof good B lo W ow
the consumer could increase utility by consuming more of good B and less of good A % 2
{D) the consumer could incraase utility by consuming mora of both goods Aand B e

5. Suppose that/Ulx,y) = %X + Y JFurther suppose that Px = $4 per unit and Py = 56 per unit and income is / = $36. For
/:is consumer, the optimal basket{ utility maximizatioR} tc buy would be
{A

} oyl = (3,0
{B) {(xy)=1{6,0)
@Dtxy) = (0,6)
(D) {xyl=1(3,0)

5. Hfan goods | 1
{A) are normal goods with a negative income effect N 2

{B} are inferior goods with an income effect that is smaller in- magnitude than the substitution effect o
., are inferior-goods with an income effect that Is greater in magnitude than the substitution effect .

{D) have downward sloping demand curve

Majed’s preferences for Appies and Oranges are represent by the following indifference curves, Which of the ," %
following is true?

(A) }{e likes both Anples and Oranges o
{B) He likes Apples and dislikes Oranges

€) He likes Oranges and dislikes Apples
He distikes both Apoles and Oranges




o)
Identify the statement that is False. Assume that the price of good ;)’ increases.
Y € substitution effect shows that the consumption of soad x falls, regardiess of whether x is 3 normal or
inferior good.
(B} The mecfﬁ’:e effect shows that the consumption of good x rises if good x is an inferior good.

IC) The gverall effect-shows that the consumer purchases more of good x if good x is a Giffen good.
The overall effect shows that the consumer purchases more of good x if good x is an inferior good.

et

0o

9. {dentify the truthfulness (Al of the following statements,
I. along the linear demand curve the price elasticity of demand is constant F
fI. Demand tends to be more price inelastic when few substitutes for a product exist, T
(A) Both land [i are true
(B} Both t and Il are Taise
} Lis true; N is false

.i is false; 1 is true

10. If Fared's marginal utility of pizza { horlzontal axis) equals 10 and his marginal utility of salad equals 2, then
/(ﬁ} he would give up & pizzas to gef the next salad /VN* P w ¢ 5= #
Bl /e would give up 5 salads to get the next pizza MQ’S ¢
{C) he will eat five times as much pizza as salad
(D} ha will eat five times as much salad as pizza

11. Suppose that demand for a good is given by g = 100 - 10p) where g is quantity demandea and p is price. Which of the

/oilowmg is true? [ BN

Demand is constant-elastic
.nommf@ is elastic at prices sbove 5, and inelastic at prices below 5
{C} Demand is inelastic at prices above 5, and elastic at prices below 5

7

{D) Demand is elastic at prices above 10, and inelastic at prices below 10

3D =

12, iifoodisan mjgﬂg___ﬁ_rgogd then 4
_ﬂi} its demang curve will be positively slopad bt 4/‘«:);@%17 L _f »y u df
{B} its income effect will grater than its substitution effact (luHL « I
@vts Engel curve will be negatively sloped /f:: -
(D} All of the above Pﬁ%

Clothing

iagram below as point A. Following a price change, the consumer’s utility \ :
maximizing market basket changes is at point B. The substitution effect of the price A
change in food on the quantity of food purchased is: !
{A) the change from F2 to F1
{B} the change from F1to F2

yonsﬂmer’s original utility maximizing market basket of goods is shown in the
d

§
C}. the changefrom F3to F1 PRI N
the change from F3 1o F2 Fi 2 3 Fond
&=
7o
14, We have asked Zain to rank his preferences between three market baskets, A, B, and C, If Zain prefers 810 € but does
not care(swg ¥) if he gets A or B, then ﬂ) e
{a) AlsonXhigher indifference curve than B. A= 14

{B) Bis ongehigher indifference curve than C but it is not possible to deterinine whether Cis on a higher, lower, or
the safhie indifference curve as A

{C} Band C are on the same indifference curve.
@Both A and B are on a higher indifference curve than C.
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15. If the utility for two goods "x" and "y" is rpgasured as/U(X, Y] = 3x +y, then it can be concluded that

%@x" and "y" are perfect substitutegh
{

%" and "y" are perfect compiements

{C} "%" and "y" are both had
(D) the indifference curves on the x,y graph will be upward sloping

16, Suppose demand is given by = 580 - !5?’3@?1@ if the government imposes a $15 price ceiling the excess
ot

/ aipand will be ap = Xt @5
00 o s 2T
{B) 225 20
: Sve § v
o) 275 ey

Which of the following demand eguations is hon;ogemeous?

17. The principle that "More is better” results in indifference curves
[ (M) Sloping dowyw —
{B} Not intersecgipg
{) Reflecting greater preferences the further they are from the origin.
All of the above.

(@a- 22 - 2l e
" Px+Py ot 28y
{B} @7% min{3Px, I}
(€) Q=—2 2 (1ev)

(2Px+1}

(D) Oy 120- 3P + 21 ﬂ;ﬂ

19. Kf and it is not a corner solution, then when the consumer maximizes utility, hox [73 )

(&} X must egual ¥ - )
2 (B MUX must equal MUY MU= MY T { (A~ /g,/

T} ¥and Y must be substitutes }@Z_—‘ A" - RE P @%

(0} Al of the above b 7\ P //'F”

20, Suppose demand is given byhere 04 is guantity demanded, P is price and Jis income. AT P =5
“and I'= 300, the income elasticity of demand is
(&) -0.18
0.21 =
{C) 0.3
{D} 0.72




Secition FF: Essav Questions (50 points)

Question #1 (20 peints)  (show your work)

Consider the following utility function: T(X, y) =X° ¥ \) ’
§
?/Graph t(he md:f?reiceqcuwe U{X,¥} =60 _ £ %
0 s o 2 4y gm 5. ,-
E P A
} (= o {/
RO 1 - O

by?ind the formulas for the marginal ysilities MU and MUY,
MIX 2 gy

MQ\‘,J 5 uh% }(Z

d. What is the demand function {eauation} for goad X7 Q 7
' ax 5/ [ZS LA J.g =
/ I ;"(fg’-x%’“ﬁb,‘j ") / %ﬁjié /;':L” I’) @T )
(.e)dﬁw’i"f s Xbsry £y
36 =) | S ~—C(V
DYy s ¥-Fx
. R
—(2)

e, Based on their demand function how do vou classiy good X? Normal, inferior or Giffen good?
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egifon #20i8 poinis) {show your Wark)

ireen has 2 monthly income of $912 that she cuiocacd: amang two goods: Printer
B 2t S od Inh 4

uppose Printer cdst $80 per unit and Ink cartridges cost 56 per unit. Suppose also that !}

y the equation UIC.X} = minf4P, C}.
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/me combination of Printers and Ink cartridges should she buy to maximize her utiiity?

Bz Q1L s Toly {C 0 | p
‘ are — Qo fr&(uP) = AsTTT gy
Cz Up — - ﬂ,quSEﬁ

TE

D ot

,\}0/’)5"57/6‘:\4)(5; 3

/ if the price of Printer rises to 5128 ner unit. What combination of Printers and Ink cartridses manimizes her
utitity? : e
g1 £ Frr8C —) couf
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show the incofne and substitution effects of the change in printer prices on printer. -
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Ouesiion #2 (12 poinls)  (show potwr work)

Consider the following demand function for Dwavers =50—-2P+4P,- 3P+ 0. M Suppose the price of DVD
players is 540, the price of good A is $45, the price of good B1S $20, andincome i§ 51,000 per month.

.a/Are DVD players and good B {whose price is represented by Pg) complements or substitutes? Explain

77uj e ComeeW% Clean J[hon ) nxgah— ryladndp P S /A"M/
Sder g B by 29 P Qp (D) e by 3 b

b ’jbpose that the supply function for DVD plavers is given by: Qg - 2P = 20. What is the market equilibrium?
®>;%+QP —— ) QP 2 Se-72Prulng _3(z) 4 o00t(lew)
s So2p 4180 Lo 4 e

e

At} é’gmib/k = G s @p ﬁ) &+2V zb,_q'ﬂ
/Z‘f"o 550

;@;u,y?,(%)s 1o .

c.  Whatis the cross-price elasticity of DVD players with respect 1o good A7 Are DVD plavers and good A substituies,
< complements or unrelated? Exploin
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